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2. tanA =05 <Y o, sin A +cos A 2] Z22(, 0° <A <90°)
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T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193
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6. TF2 133} 78 AABC 9 A] sinx x cosx X tan x & ZF2 L5t}




7.  (sin0°+3cos0°) x (cos 90° — 2sin 90°) ] FLS A, tan 45° x cos 0° +
sin90° & g+ Bt & o, A + B 9] 27

@® -3 @ -1 ® 0 @1 ® 3



8. sin3x=cos45° & W], x o] F2? (&, 0°<x<90°)

® 15° @ 20° ® 25° @ 30° ® 35°



0°<A<45° 4o, \/(sinA —cosA)2— /(sinA + cosA)? & I3
ShA?
® —2cosA @ -2sinA

® 0 @ 2sinA
® 2(sinA + cosA)



10.

2 Sfofat,
Zie sin cos tan
10° 0.1736 0.9848 0.17638
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1.1918
70° 0.9397 0,3420 2.7475
89° 0,9998 0,0175 57.2900
=
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@ sin20° © cos3bH° © sin70°
® cosb50° @ tan70°
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15. sing =cos60° € W, x o] gt Fotof2t. (T, 0°<x<90°)
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16. &3t o] A =60°,AC=12,AB = C
159 o, BC 2] Ao|=?
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17. g Zol C = 90°¢l AZHatzt
ABC 9| A] tanA x sin A ©] 329
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18.

cos2 60° x tan 45 ° — sin® 60 ° X cos 45 ° 2] ZH-&9
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